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1. ‘Dugnbw \S-ØpI’ F∂ ssien-bpsS A¿∞w:
a)IrX-y-t_m[w IqSmsX h√Xpw sNbvXp Xo¿°pI   b) IrX-y-t_m-[-tØmsS Imc-y-ßƒ sNøpI
c) hnfn-®p-]-d-bpI    d)kml-kn-I-ambn Imc-y-ßƒ sNøpI

2. Amendment F∂ ]Z-Øn\p \¬Im-hp∂ X¿÷-a-bmWv?
a){]Y-a-Zr-jvSym b) t`Z-KXn c) hym-P-tcJ d)IrX-y-hn-tem]w

3. t{]£-I≥ : Imgv®°m-c≥ :: t{]j-I≥ : .........................?
a)hnZq-j-I≥ b) Ab-bv°p∂ Bƒ c) ImWn d)t{]cn-∏n-°p∂ Bƒ

4. kqc-ys‚ ]c-ym-b-a-√mØ ]Zw GXv?
a) Ite-i≥ b) BZn-X-y≥ c) A¿°≥ d)Rmb¿

5. Imem-\p-kr-X-amb ]cn-h¿Ø-\-ßƒ°p-th≠n \ne-sIm-≈p-∂-h≥?
a) DZm-Ø≥ b) {]Xn-tem-a-Imcn c) Dƒ]-∂-aXn d)D¬]-XnjvWp

6. ‘efn-X-Km\w’ F∂ hm°ns‚ icn-bmb kamkw?
a)Zz-µ-z≥ b) I¿Ω-[m-c-b≥ c) Ah-y-bn-`m-h≥ d)_lp-{holn

7. Xmsg sImSp-Øn-cn-°p-∂-Xn¬ kI¿ΩI {Inb GXv?
a)Ipgßn b) apgßn c) ]pgpßn d)apSßn

8. ‘ISph’ GXv \ma-hn-`m-K-Øn¬s]-Sp∂p?
a)kw⁄m-\maw b) kmam-\-y-\maw c) tab-\maw d)kaq-l-\maw

9. ‘i‡n-bpsS Ihn’ F∂-dn-b-s∏-Sp-∂Xv?
a)sNdpt»cn b) CS-t»cn c) sshtem-]n≈n d)Nß-ºpg

10. AX-\w : k©mcw :: AZ-\w : .................?
a)`£Ww b) Xmt°m¬ c) an∂¬ d)Ah-bhw

11. We_______________ Ravi Yesterday

a) have met b) met c) had met d) were met
12. Many_____________ are grazing in the field

a) sheeves b) sheep c) Sheeps d) sheepe
13. The Royal group of hotels have a unique collection of imported ______________________

a) furniture b) furnitures c) furniture’s d) furnitureses
14. Which of the following pair is wrong

a) glass-glasses b) leaf-leaves c) lion-lioness d) wolf-wolves
15. Put the adjectives in right order      :       The house was _______________ building

a) a nice stone old b) a nice old stone c) a stone old nice d) an old nice stone
16. Jessie waited with ________________ breath for news of her success.

a) bated b) batton c) baited d) battled
17. The passenger had an ___________ with the ticket examiner for 10 minutes

a) alternative b) alternate c) alternation d) altercation
18. lion : den  ::  fox  : _____________

a) Lair b) Lodge c) Stable d) Dray
19. Find the correct spelling

a) Flurescent b) Fluorascent c) Fluorescent d) Fluoracent
20. Find the incorrect word

a) Grammar b) Heterogeneous c) imminent d) Fourty
21. “Take the tablets before meals” said the doctor . The indirect form is:

a) The doctor told me that I took the tablets before meals.
b) The doctor wanted to take the tablets before meals.
c) The doctor told me to take the tablets before meals
d) According to the doctor the tablets were to taken before metals

22. My younger son has just ____________ a letter

a) written b) wrote c) writing d) write
23. My sister ______________ in my house for five years

a) was staying b) is staying c) has been staying d)stayed
24. By this time next year he  _______  his professional course

a) will have finished b) will be finished c) has finished d) will be finishing
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25. Jayan asked me ______________

a) When was I leaving for Bangalore b) When I leaving for Bangalore
c) When I was leaving for Bangalore d) When are you leaving for Bangalor

26. It has been raining__________________ last night

a) for  b) at c) since d)till
27. Which of the following is not an adjective?

a) better b) beautiful c)  clean d) neatly
28. Bee  :   ________,  Bird  :    __________  (write their homes)

a)  Aviary,  Apiary b) Apiary, Aviary c) Apiary, Aviary d) Apeary, Aviary
29. Choose the correctly spelt word.

a) Hygeine b) Hygene c) Hygiene d) Hygine
30. They __________ the same mistake four times this month

a) made b) have made c) had made d) are making
31. Hcp tai 720 cq]bv°v hn‰-t∏mƒ 25% \jvSw D≠m-Ip-∂p. F¶n¬ tai-bpsS hmßnb hne F¥v?

a) 600 b) 960 c) 860 d)900
32. 5,10,15,20,  x F∂o Af-hp-I-fpsS icm-icn 18 Bbm¬ x s‚ hne F{X   ?

a)16 b) 17 c) 18 d)40
33. Hcp kam-¥c t{iWn-bnse 2˛m-a-sØbpw 4˛m-a-sØbpw kwJ-y-Iƒ 8,2 F∂n-h-bm-Wv. F¶n¬ BZ-ysØ

kwJy GXmWv?
a)10 b) 14 c) 11 d)5

34. cabpw eoe-bpw Htc XpI 2 h¿j-tØ°v _m¶n¬ \nt£-]n-®p. ca 10% km[m-cW ]en-ibv°pw eoe 10%
hm¿jnI Iq´p-]-en-ibv°pw. Imem-h[n ]q¿Øn-bm-b-t∏mƒ eoebv°v 100 cq] IqSp-X¬ In´n-sb-¶n¬ F{X

cq] hoX-amWv Ah¿ \nt£-]n-®Xv?
a)1000 b) 5000 c) 15000 d)10,000

35. Hcp ka-N-Xp-c-°´-bpsS D]-cn-Xe ]c-∏-fhv 14406 N.-sk.an Bbm¬ Hcp h°ns‚ \ofw?
a) 39cm b) 49cm c) 48cm d)38cm

36. 2,3,4,5,6,7,8 F∂o kwJ-y-Iƒ sIm≠v ]q¿W-ambpw lcn-°m-hp∂ G‰hpw sNdnb kwJy GXv?
a)640 b) 1000 c) 980 d)840

37. c≠p kwJ-y-I-fpsS KpW-\-^ew 28 Dw DkmL 2 Dw Bbm¬ ekmKp F{X?
a)14 b) 4 c) 2 156

38. h°p-I-fp-sS-sb√mw \ofw 6cm Bb Hcp ka-N-Xp-c-°-´-bn¬ \n∂v sNØn-sb-Sp-°m-hp∂ G‰hpw henb
tKmf-Øns‚ hym]vXw F{X ?

a)144π b)228π c) 36π d) 72π

39. 3cm Bc-ap≈ Hcp tKmf-Øns‚ hym]vXw F{X?
a)0.36πcm3 b) 0.18πcm3 c) 36πcm3 d)18πcm3

40. A,B,C,D,E Ch¿ A©p Ip´n-I-fm-Wv. A,B tb°mƒ Dbcw Ipd-™Xpw E tb°mƒ Dbcw IqSn-bXpw BWv.
C G‰hpw Dbcw IqSnb Ip´n-bm-Wv. D,B tb°mƒ Dbcw IqSn-b-Xp-am-Wv. F¶n¬ G‰hpw Dbcw Ipd™
Ip´n Bcv?

a) A b) E c) B d) D?
41. 2000 Unkw-_¿ 11 Xn¶-fm-gvN-bm-bm¬ 2001 Unkw-_¿ 12 GXmWv Znhkw?

a)Xn¶ƒ b) sNm∆ c) _p[≥ d)hymgw
42. Hcp kvIqfn\v 2 BgvNbpw 3 Znh-khpw Ah[n {]J-ym-]n-®p. P\p-hcn 20\v B Znhkw Dƒs∏-sS-bmWv

Ah[n {]J-ym-]n-®-sX-¶n¬ F∂mWv kvIqƒ Xpd-°p-∂Xv?
a)s^{_p-hcn 2 b) s^{_phcn 7 c) s^{_p-hcn 6 d)s^{_p-hcn 5

43. 800 cq] ]c-k-y-hn-e-bp≈ Hcp tdUntbm 720 cq] hne°p hn‰m¬ UnkvIu≠v F{X iX-am\w?
a) 8 b) 10 c) 11 1/9 d)12

44. Hcp Iym-ad 8000 cq]bv°v hn‰m¬ 20% \jvS-ap-≠m-Ipw. F¶n¬ AXv F{X cq]bv°v hn‰m¬ 10% em`w In´pw?
a) 9000 cq] b) 9500 cq] c) 10500 cq] d)11000 cq]

45. aq∂p kwJ-y-I-fpsS DkmL 24 Ah-bpsS A\p-]mXw 31:41:51 kwJ-y-Iƒ ImWpI?
a)744,944,1044 b) 744,984,1224 c) 744,984,1024 d)744,944,1224

46. 24, x, 42 F∂nh Hcp kam-¥c t{iWn-bpsS XpS¿®-bmb ]Z-ß-fm-bm¬ x F{X?
a)30 b) 28 c) 33 d)18

47. Hcp hcn-bn¬ a\p ap∂n¬ \n∂pw ]n∂n¬\n∂pw 10-˛m-aXmWv. F∂m¬ B hcn-bn¬ BsI F{X t]¿ ?
a)19 b) 20 c) 21 d)18

48. icm-icn ImWpI.     0.01, 1.20, 3.75, 0.483, 1.97?
a)1.236 b) 1.4826 c)1.136 d)1.036

49. H‰-bms\ Is≠-ØpI?
a)P\p-hcn b) sk]vXw-_¿ c) am¿®v d)saøv

50. 2,3,4 ekmKp GXv?
a) 3 b) 14 c) 12 d)24


